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Note: Each Question is 2 marks.

Question 1

A ball is horizontally thrown with a speed of 40 m/s as shown in the figure. The ball falls down in 3
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Question 2
The graph below shows the change in the velocity of a car with time.

A) Calculate the distance taken by the car for 20 seconds.

B) Calculatetheaccelerationofthecarfora)0-L5secondsandb)L5-20seconds.

seconds. (Take g= - 10 m/s2)

A) Calculate the distance x. q)

B) Calculate$e hight, h=? 
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-"9

A ball thrown up with an initial velocity of 20 m/s. 4 
\-

A) How long does it take the ball take to reach its maximum height? |
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Question 4
A car initially at rest starts to move with a constant acceleration of 4m/s2.lf it accelerates for L2

seconds,

A) How far will it move during this time? V Xt> 
t O @= q *ls' *= lZ;

B) What will be its final velocitY? A) Ax

D) yr$*
l'tr('ffi

Question 5
The position of a particle moving on an x axis isgiven by x =4t2-6t + 10 
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Question 6
A ball rotates at a constant speed of 2 m/s at the end of 2 m long string. The string makes a horizontal circle.

A) Calculate the centripetal acceleration of the ball

B) Calculate the period of the motion.

A) 1r'l-u:?
b) A=? u=+t

Question 7

The position vector for a particle is initially 1' = 1-4'0 mji -(r 'o mjj + (2'0 m)ii

and then tater is q = 13'0 *l' -(r.o m)i + (3'0 m)ft

What is the particle's displacement i from { to [?
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